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CBT Sample assessment model answers

Personal Tax (PLTX) FA2016

Sample assessment 1



Task 1 (10 marks)
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Task 2 (8 marks)

[image: ]Rounding – (a) text boxes

These model answers show the figures rounded down. However, figures rounded up are equally valid for the purposes of this assessment.



Task 3 (8 marks)

[image: ]Rounding – Text box 3

This model answer shows the figure rounded down. However, figures rounded up are equally valid for the purposes of this assessment.



Task 4 (6 marks)
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Task 5 (6 marks)
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Task 6 (12 marks)
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Task 6, continued
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Task 7 (4 marks)

[image: ]Rounding – Text boxes

These model answers show the figures rounded down. However, figures rounded up are equally valid for the purposes of this assessment.



Task 8 (7 marks)

[image: ]Rounding – Text box 2

This model answer shows the figure rounded down. However, figures rounded up are equally valid for the purposes of this assessment.



Task 9 (10 marks)
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Task 10 (10 marks)
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Task 11 (7 marks)
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Task 12 (6 marks)
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Task 13 (6 marks)
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Enter the amount that would be taxable for 2016/17 for each benefit in the box provided.
If your answer is zero, enter ‘0", Enter your answer in whole pounds only.

Taxable

itin kind
Joe is a higher rate taxpayer and Clart Ltd pays £40 per week (for 52 weeks) to a 624
registered childminder for Joe's daughter.
Jules moved info a house prowided by Clartl Lid L1d on 1 August 2013 when fts market
value was £320,500. The house cost Clartt Ltd £236,000 in January 2007. 5255
‘The house has an annual value of £6,900. "
Jules pays Clartt Lid £750 per month towards the use of the house
Atelevision and cinema system costing Clartt Ltd £15,500 was bought for Ranjits use

1808

on 1 September 2016,
All employees had the use of a subsidised canteen o
The costto Clart Ltd was £580 per employee.
George moved 150 miles due to a promotion and received £9,500 to help with his removal 1500
expenses :
On 1.July 2016, James was given a loan of £12,000 on which he paid 3.5% interest. o
He has not repaid any of this loan yet.
Margaret had the sole use of a company van throughout al of 2016/17. 2768
Clart Ltd pays for all fuel and 50% of the mileage is for private usage. .
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The information below relates to investment income received during 2016/17 by three taxpayers.

Complete the following sentences for each taxpayer.
If your answer s zero, enter ‘0", Enter your answer in whole pounds only. (6 marks)

Doris received a diidend of £10,000. Her other taxable income, after personal allowances, totalled £21,500.

The tax payable by Doris on these dividends is £ 375)

Honey received £2,500 in interest from her building society account and £310 in interest from her individual
savings account. Her other taxable income, after personal allowances, totalled £45,800.

Honeys income from investments on which tax wll be paidis £ 2000]

The total tax payable on this interest by Honeyis £ 800]

Ianka received building society interest of £3,200. Her other taxable income, after personal allowances,
totalled £125,900.

anka's income from investments on which tax will be paidis £ 2700]

The total tax payable on this interest by vanka s £ 1080]
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Complete the table below to show taxable rent and allowable expenses for these properties.
in 2016117. If your answer is zero, enter 0'. Enter your answers in whole pounds only.

Property
R Green Cotage was ltfom 1 June 2010 fortne remaincer of e
Green |taryearior 2230 pr monin. Sam pad 10% commigsion 0.2 e | 1em)
08 letting agent and paid £600 in advertising costs.
Valow Gardens was et o 1 Januan 201 or e rmainder
Yol | oftoxyear ot £550 pr month. Sam paid £2.850 n August o | aem
Gardens 2018 o eplace he single glazet widows withdoubl glazed :
wincows
Lime Lane was etfor e whole o 201517 SE770 per manth
Lime | Sampatafor e oulling nsurance,whichcohm €300 for wso| o
Uane | meyeariom 1 Januay 2076 na €624 o e yeartom :
onuan 2017
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(a) Calculate John's total income tax liability for 2016/17, entering your answer and
workings into the blank table below.

You have been given more space than you will need. @ marks}
2|
[Employmentincome 58,000
[Property income (£15,500-£9,250) 6.250)
[Building society interest 1,200)
IDividends 3,000
68,450)
IPersonal allowance 11,000)
57,450

Basic rate; £32,000 + (£224 x 12X 100/80) = £35,360
l£35,360 x 20% 7.072)
[£17,890 x 40% (£57,450-£35,360 - £4,200) 7,156
le700x 40% (£1.200-£500) 280)
IDividends Below £5,000 o
[ToTAL 14,508]
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(b) Clearly explain in the box below why the personal allowance for Joy of £6,000 for 2016117
s correct.

[ Joy has total income over £100,000 her personal allowance wil be reduced by £1 for every £2 over
£100,000.

[Therefore, the computation for her personal allowance would be £11,000 - ((£110,000 - £100,000)/2) =
25,000
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Complete the following sentences by typing your answer, in whole pounds, in the boxes.
provided. Ignore the employment aliowance.

The total Class 1 National Insurance contributions payable by Jonny in 2016/17 are

3

2292

Th

e total Class 1

National Insurance contributions payable by Jonny's employer in 2016/17 are.

[6.654

e total Class 14 National Insurance contributions payable by Jonny's employer in 2016/17 are

045
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(@) Tick to show if the following statements are true or false. (2 marks)

‘Henry has always wanted to invest in shares but he does not own any.
He has justwon £4,000 on the Iotlery, 5o he decides to investthis win in shares.
‘There will be no income tax implications on this investment

An employee is provided with his first £20,000 loan by his employer.
Forthis loanto be tax free, the employer must charge interest above 0%

(b) Complete the following sentences. Enter your numerical answers in whole pounds only. (5 mars)

Michael and Julia are married. For 2016/17, Michasl has total employment income of £87,000 and Julia has

total employment income of £8,000. Currentl, al investments are jointly owned. To minimise their total tax

fabily, all he investmenis shoud

Ruby has total income of £105,000. She wants to pay into her private pension scheme so that she can protect

her full personal allowances of£11,000. She therefore needs to pay atleast£ [ 4000] into her private

pension scheme

Chen s a basic rate taxpayer. He has a company car for the whole of 2016/17. tis a Ford car which has a
scale charge percentage of 13% and an assessable benefitin kind of £2,431. He has been offered a Volvo
car which costs the same as the Ford, but with a scale charge percentage of 7%.If Chen chose the Volvo

on 6 April 2016, this will save him £ [ 224 in income tax for 2016/17.
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During 2016/17, Sam sold five assets to unconnected persons.
‘The proceeds and cost of each asset are shown in the table below.

(a) Show whether the selling of each asset below wil resultin  taxable gain or an
allowable loss, or be exempt from capital gains tax, and then indicate the amount of
gainfloss in the final column. If you think the asset is exempt, enter a zero 0" in the final

‘column. Do not leave any cells blank. Do not use brackets or minus signs. (5 marks)

Taxablegain,  Amount of
gainl
Desk 8980  740fTaxablegain | 1840)
Chair 6240 so00fTabiegan | 400
Witor 5140 6.330[Alowableloss g 330
Ring 3810 4p00[empt ¥ o
Racehorse | 10560 5,500 xempt ¥ 0

(b) Complete the following sentences. (2 marks)

Rotin and issstrin-aw e eate a5 comected persons
A70 yearolaintage car 50 veate as 3 crargeavi ssset.
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(c) Complete the following table to show the gain made on the sale of the painting.
Do not use brackets or minus signs. 3 marks)

Proceeds 58,500

Total cost 36,840

Gain 21,660
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Clearly showing the balance of shares and their value to carry forward, calculate the gain
Keith made on the sale of the shares for 2016117.

All workings must be shown in your calculations.

You have been given more space than you will need. (10 marks)
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Event] Shares 2|

1 January 2011 Purchase 800 4,880

[1uy 2013 Rights issue 160 608

960 5488

112 August 2013 Disposal (400)| 2,287

560 3201

lo5 March 2014, Bonus issue 56 o

616 3201

[14 April 2014 Purchase 500 4,100

1116 7301

119 October 2016 Disposal (250)| 1,635)

[Pool to carry forward 866 5,665,
IProceeds 2525
|cost 1636
(Gain 889
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Calculate the amount of capital gains tax payable for each taxpayer.
Your answer must be in whole pounds only. If your answer is zero, enter 0", (7 marks)

Alex 0
Donna 480
Carl 1930

Bridget 540
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(a) Complete the following sentences that relate to inheritance tax (IHT).
if appropriate, enter your answer in whole pounds only. If your answer is zero, enter ‘0",

Richard ransferedine ownershp of aboa il is wie's name n Hay 2013 n Deceer 2016, Richard
e The vanseroftne post e exemptfom T on Richard ceat

Samantha received £10,000 from her grandfatner on the occasion of her marriage on 22 March 2017.

The value of the transfer that may be liable to IT when the grandfather dies is £ [7 500

An individual who is domiciled in the UK could be liable to IHT on their estate which is

situated [anywhere inthe worla g

An individual who is not domiciled in the UK could be liable to IHT on their estate which is

situated [imthe UK only v

(b) Tick to show if the following statements are true or false.

Partnerships are ireated as chargeable persons for IHT purposes.

‘The £250 small giftexemption is per transferee per tax year.
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Calculate the inheritance tax payable on lan’s estate, entering your answer and workings into

the blank table below. You have been given more space than you will need. 6 marks)
Workings: 2|

[chargeable estate 2,200,000
INil rate band: lan 325,000
lan's wife (£325,000 X 70%) 227,500

562,500

[Taxable £2,200,000 - £652.500 1,647.500|
[Taxpayable @40% 650,000|
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Using the AAT guidelines "Professional conduct in relation to taxation’, explain what
steps you should take regarding this possible irregularity.

[Firstly the facts need'o be established. Was the clientworking in the carwash? Is he the owner? ff not
(maybe helping a friend out when on holiday and not being paid) then no further action needs to be.
taken. However, ifthere does appear to be an iegularit, is the amount involved trvial? It would suggest
not, in which case the client needs to be approached to find outthe facts.

ifindeedthe client has monetary gains from the carwash, then they must be advised that it needs to be
disciosedto HURC. ffthe client agrees to disclose to HURC this business, then the client needs to be
[acvised on the potential for penalties, interest, surcharges and other consequences. Ifthe dlient does
ot agree to disclose, then the client needs to be advised on the consequences of failure to disclose.
[Such acvice needs to be done in wriing.

ithe client sill does not agres to disclose to HHRC, then you must cease to actfor the client and inform
[HURC of the withdrawal. However, because of the need to maintain client confidentiality, HMRC should
ot be provided with an explanation of the reasons why you have ceasedto act
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(a) Complete the following sentences to show Sam's taxable benefit in kind for the cars for
2016/47. Show your answers in whole pounds only. 6 marks)

The beneftin kind for the use of Car 1for 201617 s £ [2,504

‘The benefitin kind for the provision of fuelfor Car 1for 2016/17is £ [2.497

The beneftin kind for the use of Car 2 for 201617 s £ [7,230

‘The benefitin kind forthe provision of fuelfor Car 2 for 2016/17 s £ [2.450

(b) Complete the following table by inserting the scale charge for 2016/17 for each of the
cars shown below. (2 marks)

Enging

cara  |Petrol 181 E

Car4  |Diesel 212 a7





